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1. ABd/KEHPPE ¢ 100mm £ e38



HPPE$100mmEKERHRT HEFHES

/NLT: 0100 1E

Y 1.20m NO., 1
EHRA
T £ BT A LI & H _Z
JKEEKER EFZOMES L
HH FUIFLVE ¢ 100 X 5,000 ZS 5000 X =
JKEEKER JL—VIREE
"VIFLVE ¢ 100 x 5,000 x 1 HPPE ¢ 1008 & & &Y = 2090 YIEH
FIIFLYER ms x 1 =
EFfi&F-2 $100% 75 & 1 0.140 x 1 = 0140
PCTaf vk ¢ 100 & 2
(BHER)
THKE S/ LD ¢ 100 H 1
EBEELER  HPPE = 2230
ToH T
EHRT-7 W=50 m 22 2230 — = 2230 #R®
T 2fE a5 tyH
EBHRY-H W=150 m 2.2 2230 — = 2230 #R®




HPPE$100mmEKERHRT HEFHES

R £ 1.20m NO.
EHRA
TiE £ BT A B z H _Z
FE [ T]
RbiE ToH
FYIFLVERAT ¢ 100 m 22 2230 — = 2230
QO#F) P2
EFf¢F T ¢ 100 [E:17i8 1 1 = 1
FYIFLVE PCY'3{ub
FZhIVEF T ¢ 100 a 2 2 = 2
EE2 73 PCY'a{ub
FZhIVEF T ¢ 100 a 2 2 = 2
HPPEYI &%
FYIFLVE YT ¢ 100 m] 2 2 HPPE ¢ 1008 & & &Y = 2
DIP ] it
DIPIERF T ¢ 100 [m] 2 2 = 2
wH/LT
TUIFEET ¢ 100 [E530 1 1 = 1
BB EA-THET ¢ 100 m 2.2 2.230 = 2230
ToH
EHRT-7 T W=50 m 22 2.230 = 2230 bial o3
TS 21 ToH
BRI W=150 m 22 2.230 = 2230 bial o3
EKEERT BEER B & m 2.2 2.230 = 2230
[+T1]
HPPE ¢ 100
B+ TD-1 EEGEBREREHE m 22 22 = 22
DIP ¢ 100
EELETO HEGE)EZ/NLT m 1.2 1.2 = 12




HPPE ¢ 100mmi]) & &

=iE-E1R [HPPE 6100 FER= 50 m/&X HPPE ¢100 ®ER= 50 m/K
No. | B&ig EE uE mARE o F BE [[No. | Big EE uE mARE o F BRE
1 0.300 + 1.790 2.910 2.910
v E RN
Nt 2.090 m B 20 2.910 m Nt SRR
&it 2.090 m BB 20 2910 m
i =




No. 1 +T -1 +T [©)
HPPE & 100mmZ K & # 5% 2.2 =EE L 1.2 =EEL
& i iR % E HEEE
AsEiZE 2.00 4.40 4.00 4.80 9.20) 9)
UM T t=15cmA T m
AsEfizE 0. 60 1.32 1.20 1.44 2.76 ) 3)
SRR T |t=10cmA T m2,
BHO. 28m3 0.76 1.67 1.76 2.1 3.78) 4)
HEARPRYE T Myt m3
BHO. 28m3 0.19 0.42 0.33 0.40 0.82) 1)
HIERT BAL m3
BHO. 28m3 0.45 0.99 0.90 1.08 2.07) 2)
HIERT FHEL m3
(RC-30) 0. 60 1.32 1.20 1.44 2.76 ) 3)
TrERET t=10cm m2
(RM-30) 0. 60 1.32 1.20 1.44 2.76 ) 3)
LB T t=12cm m2
BAEFH As13mm 0. 60 1.32 1.20 1.44 2.76 ) 3)
ERE{RE IR t=3cm m2
RitunT 0.26 0.57 0.76 0.91 1.48) 1)
(8 4tDT m3,
BRitunT 0.03 0.07 0. 06 0.07 0.14) 0.1)
(AS) 41DT m3,
ZAE 0.07 0.15 0.14 0.17 0.32) 0.3)
TAI7VI5E t
0.16 0.16 0.16) 0.2)
FhE€avy)-t T m3
1.21 1.21 1.21) 1)
BT INEEEY m2




Wiz s =  (@D-1 HPPE 100 L= 2.2 m

BrET £ Ff = BB (G RRER B i

B = 0130 X 0130 X x / 4 = 0013
2R = X X /4 = 0.000
Im2%0

% B 7 o & =
ARG T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
DR AT T
AsEELEIR t=10cmEl T 1.00 X 0.60 = m2 0.60
i T, BHO.28m3
B E A B 1.00 X 0.60 X( 1.33 — 0.05 )— 0.013 =| m3 0.76
HET. BHO.28m3
K NFEIE D HEA - 1.00 X 0.60 X 0.33 — 0.013 = m3 0.19
HET. BHO.28m3
K NFEIED TS A 1.00 X 0.60 X 0.75 = m3 0.45
FE AR T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
LB EAR T (RM-50)
t=12cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FEL A T ADT malt+  WHEt
JEAZL 1% 0.76 —( 0.45 = 0.90 )= m3 0.26
FEL A T ADT
FERS TAT7 W 1.00 X 0.60 X 0.05 = m3 0.03
AL

TA77 VR 0.03 X 2.35 = t 0.07




g5 = @ DIP $100 L= 12 m
Brigib B = BRI G N e
EHE S = 0130 X 0130 X x / 4 = 0.013
Co % = 0550 X 0.550 = 0.303
Im2%0

% 7 o & =
EHIELI T
AsBFIERK t=15cmlL T 1.00 X 4 = m 4.00
BULEN A 1
AsEELEIR t=10cmEl T 1.00 X 1.20 = m2 1.20
G L. BHO.28m3
W A PEE A 1.00 X 1.20 X( 1.563 — 0.06 )— 0.013 =| m3 1.76
FAEE 1. BHO.28m3
S NG A A 1.00 X 1.20 X 0.53 — 0.303 = m3 0.33
FAEZ 1. BHO.28m3
S NFEIE D A A 1.00 X 1.20 X 0.75 = m3 0.90
T BT (RC-30)
t=10cm 1.00 X 1.20 = m2 1.20
LB EAR T (RM-50)
t=12cm 1.00 X 1.20 = m2 1.20
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 1.20 = m2 1.20
FEL A5 T 4tDT el WAL
FHAE L4 1.76 —( 0.90 = 0.90 )= m3 0.76
FEL A T ADT
FEAZL TR 1.00 X 1.20 X 0.05 = m3 0.06
AL
TA77 VR 0.06 X 2.35 = t 0.14
Sz r)—p 1 0.55 X 0.55 X 055 — 0.013 X 0.55 m3 0.16
JHRET 0.55 X 055 X 4 = m2 1.21




2. FE/KEHPPE ¢ 75mm 25 &=35%



HPPEos75mmBCKEER T HEHES

ekt £ %Y :0.70m~1.20m NO. 2
EHRA
T £ BT A LI & H _Z
JKEEKER EFZOMES L
H# FYIFLVE ¢ 75 % 5,000 S 7 5000 x 7 = 35000
JKEEKE A IJL—rIUREE
FYIFLUE ¢ 75 % 5,000 =x 3 HPPE ¢ 75¥1 & & &Y = 13400 IERA
KUIFLYE R L
EFF5245° A'UM ¢ 75 & 9 0.480 X 9 = 4320
KUIFLYE R L
EFFI5245° A'UM ¢75 & 6 0.380 X 6 = 2280
FYIFLVER W2 11 0310 x 1 = 0.310/HPPE ¢ 100
EFfIZ7-R @100% 75 & L X = <5t b
PE## & 7 & R $100x 75 & 1
EBEELER  HPPE = 55310
ToH T
EHRT-7 W=50 m 55.3 55310 — = 55310 #R®
ThE 2fE HeH tyH
EBHRY-H W=150 m 55.3 55310 — = 55310  #R




HPPES75mmEC’KERRT HEFES

ek st £981Y:0.70m~1.20m NO. 2
EHRA
TiE £ BT A LI & H _Z
FE [#B+T]
RbiE ToH
FYIFLVERAT ¢ 75 m 55.3 55310 — = 55310
(1O#%F) ZOEE H245° 5245
EFf¢F T ¢ 75 ] 31 10+ 9 + 6 X 2 = 31
(2O#F)
EFftF T ¢75 [E:17i8 6 = 6
FYIFLVE PE#kER F 3%
FZhIVEF T ¢ 75 [m] 1 1 = 1
FYIFLVE PE#kER F 3%
FZhIVEF T ¢ 100 a 1 1 = 1
HPPEYI &%
FYIFLY BT ¢ 75 m] 9 9 HPPE ¢ 75¢1 & & &Y = 9
BB EA-THET ¢ 75 m 55.3 55.310 = 55310
ToH
ERRT-7T W=50 m 55.3 55.310 = 55310 bisl o3
T 21 ToH
FHHRRY-FT W=150 m 55.3 55.310 = 55310 bisl o3
EKEERT BRER &g m 55.3 55.310 = 55310
[+T1]
HPPE ¢ 75
EH+T@-1 EEGEBRERBEE m 50.9 21+ 4838 = 509
HPPE ¢ 75
EHIET@-2 EEGEBREREHE m 24 2.4 = 24
HPPE ¢ 75
EH+T@-3 EEGEBREREHE m 15 15 = 15




HPPE ¢ 75mm{]) 3%

EiE-EE [HPPE 075 ER= 50 m/XK HPPE ¢ 75 ER= 50 m/K
No. | B&ig EE uE TRARE o F RE [[No. iR EE uE TRARE o F BRE
1 4.300 0.400 0.300 0.300
2 4.000 0.800 0.200 0.200
3 1.120 0990 + 0740 + 0.720 + 0.330 1.100 1.100
v E RN
IVt 9.420 m 3.980 m BT Cl=] 1.600 m IVt ST
&it 13.400 m BT 90 1.600 m
i =




No. 2 T @-1 T @-2 T @-3
HPPE & 75mmii K & 5% 50.9 =R L 2.4 =EEL 1.5 =@EE L
& i iR % &t HEEE

AsERZE R 2.00 101. 80 2.00 4.80 2.00 3.00 (109.60 )| ( 110 )
UM T t=15cmA T m

AsERZE R 0.60 30.54 0. 60 1.44 0. 60 0.90 ( 32.88)¢( 33)
SRR T |t=10cmA T m2,

BHO. 28m3 0.44 22.40 0.64 1.54 0.74 1.1 (25.05)¢( 30)
HEARPRYE T Myt m3

BHO. 28m3 0.17 8.65 0.17 0.41 0.17 0.26 ( 9.32)¢( 10)
HIERT BAL m3

BHO. 28m3 0.15 7. 64 0.35 0.84 0.45 0.68 ( 9.16)( 10)
HIERT FHEL m3

(RC-30) 0. 60 30.54 0. 60 1.44 0. 60 0.90 ( 32.88)¢( 33)
TrERET t=10cm m2

(RM-30) 0. 60 30.54 0. 60 1.44 0. 60 0.90 ( 32.88)¢( 33)
LB T t=12cm m2

BAEFH As13mm 0. 60 30.54 0. 60 1.44 0. 60 0.90 ( 32.88)¢( 33)
ERE{RE IR t=3cm m2
RitunT 0.27 13.74 0.25 0. 60 0.24 0. 36 ( 14.70)|( 10)
(8 4tDT m3,
BRitunT 0.03 1.53 0.03 0.07 0.03 0.05 ( 1.65 )| ( 2)
(AS) 41DT m3,
ZAE 0.07 3.56 0.07 0.17 0.07 0.1 ( 3.84)¢( 3.8)

TAI7VI5E




WA =  ©-1 HPPE ¢75 L= 50.9 m

BrET £ Ff = BB (G RRER B i

B = 0090 X 0090 X x [/ 4 = 0.006
2R = X X /4 = 0.000
Im2%0

% 7 o & =
BT
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
BULEN A 1
AsEELEIR t=10cmEl T 1.00 X 0.60 = m2 0.60
i T, BHO.28m3
- A B A 1.00 X 0.60 X( 0.79 — 0.050 ) — 0.006 =]| m3 0.44
HHE 1. BHO.28m3
KN SEA - 1.00 X 0.60 X 0.29 — 0.006 = m3 0.17
HHE 1. BHO.28m3
SN T 1.00 X 0.60 X 0.25 = m3 0.15
TIESHE T (RC-530)
t=10cm 1.00 X 0.60 = m2 0.60
LB EAR T (RM-50)
t=12cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FEL A T ADT malt+  WHEt
FiAA 1 0.44 —( 0.15 +— 0.90 )= m3 0.27
FEL A T ADT
FEAZL TR 1.00 X 0.60 X 0.05 = m3 0.03
AL

TA77 VR 0.03 X 2.35 = t 0.07




Wik s = @-2 HPPE ¢75 L= 24 m

BrET £ Ff = BB (G RRER B i

BEHE = 0090 X 009 X z / 4 = 0.006
2R = X X z /4 = 0.000
Im249

% B 7 H = o & =
BRIECI 1
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
LR T
AsEELEIR t=10cmEl T 1.00 X 0.60 = m2 0.60
KR T, BHO.28m3
P LA FEET - 1.00 X 0.60 X( 1.13 — 0.050 )— 0.006 )=| m3 0.64
HEE T BHO.28m3
LGRS AL 1.00 X 0.60 X 0.29 — 0.006 = m3 0.17
HEE T BHO.28m3
LGRS A 1.00 X 0.60 X 0.59 = m3 0.35
TIESHE T (RC-530)
t=10cm 1.00 X 0.60 = m2 0.60
_F/EEAE T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FEL A5 T 4tDT eI+ WAL
FEAS 0.64 —( 0.35 + 0.90 )= m3 0.25
TG 1. 4DT
FEAL TRAT7 N 1.00 X 0.60 X 0.05 = m3 0.03
TN

TA77 VR 0.03 X 2.35 = t 0.07




Wik s = @-3 HPPE ¢75 L= 1.5 m

BrET £ Ff = BB (G RRER B i

B = 0090 X 0090 X x [/ 4 = 0.006
2R = X X /4 = 0.000
Im2%0

% 7 o & =
BT
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
BULEN A 1
AsEELEIR t=10cmEl T 1.00 X 0.60 = m2 0.60
i T, BHO.28m3
- A B A 1.00 X 0.60 X( 1.29 — 0.050 )— 0.006 =| m3 0.74
HHE 1. BHO.28m3
KN SEA - 1.00 X 0.60 X 0.29 — 0.006 = m3 0.17
HHE 1. BHO.28m3
SN T 1.00 X 0.60 X 0.75 = m3 0.45
FE AR T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
LB EAR T (RM-50)
t=12cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FEL A T ADT malt+  WHEt
FiAA 1 0.74 —( 045 + 0.90 )= m3 0.24
FEL A T ADT
FEAZL TR 1.00 X 0.60 X 0.05 = m3 0.03
AL

TA77 VR 0.03 X 2.35 = t 0.07




3. HBKESTEX 620(p25)mm  FieR



foKEMERT (BKEBH75Mmm) HEHES
&8 - O 1% PE @ 20mm X T&FT, PE ¢ 25mm X 26
&M T9Y:0.30~1.00m NO. 3
B H R
T £ & FBRTZE By % & %
H#H
HPPE (#5858 7D 7@
YL AT KEE b75x% ¢ 20 = 7 5 + 2 7
HPPE FR(E5 858 477D 7@
YL AT KEE b75% P25 = 2 1 + 1 2
FCD&! 447°® 447°@
LEKAEFR YR ZRME & 9 6 + 3 9
& [FEFT])
HPPE 47D 7@
NKERETAAT $75x 20 &R 7 5 + 2 7
HPPE 47D 7@
NKERETAAT $75x $25 (&5l 2 1 + 1 2
MIH MTD FHHRBJEER
FRKEERT PE ¢ 20 &R 5 5 L=2.2m 5
MIH M7Q FHHBEER
FRKEERT PE ¢ 20 &R 2 2 L=5.5m 2
MIH MTD FHHBJEER
HKEERT PE ¢ 25 (&l 1 1 L=2.2m 1
MIH M7Q FHHBEER
FRKEERT PE ¢ 25 &R 1 1 L=5.0m 1
(1]
PE ¢ 20
B TD HEEE m 13.0  2.7+0.9+2.7+0.9+0.9+0.9+0.9+0.9+2.2 13.0
PE ¢ 20
T2 HEEE m 21 07x3 2.1
PE ¢ 20
EHLTO HEGES m 90 10x9 9.0




No. 3 +T -1 +T -2 +T [@) T T T T T

HKEBT5x $20(B25) 7% 13.0 =EEL 21 =EEL 9.0 =EEL SER L SER L SER L “EE L SEE L

& 7 i % B HEtEE
AsERZE R 2.00 26.00 2.00 4.20 2.00 18.00 ( 48.20)¢ 48)

SEYMT t=15cmAF m
AsEREE R 0. 60 7.80 0. 60 1.26 0. 60 5.40 ( 14.46)|¢( 14)

SRR T |t=10cmA T m2,
BHO. 13m3 0.35 4.55 0.59 1.24 0.17 1.53 ( 7.32)H]¢ 10)

AR YE T M+ m3
BHO. 13m3 0.14 1.82 0.14 0.29 0.05 0.45 ( 2.56)¢ 3)

HWHERT BAL m3,
BHO. 13m3 0.09 1.17 0.33 0. 69 ( 1.86)]¢ 2)

HWHERT FEAEL m3,
(RC-30) 0.60 7.80 0. 60 1.26 0. 60 5.40 ( 14.46)|¢( 14)

TREET t=10cm m2
(RN-30) 0.60 7.80 0. 60 1.26 0. 60 5.40 ( 14.46)|¢( 14)

TERET t=12cm m2
BEZH As13mm 0. 60 7.80 0. 60 1.26 0. 60 5.40 ( 14.46)|¢( 14)

BE{REIR t=3cm m2,
BIonT 0.25 3.25 0.22 0.46 0.17 1.53 ( 5.24)H]¢ 5)

(8 2tDT m3,
HBIunT 0.03 0.39 0.03 0.06 0.03 0.27 ( 0.72)H]¢ 1)

(AS) 2tDT m3
ZAE 0.07 0.91 0.07 0.15 0.07 0.63 ( 1.69)¢ 1.7)

TAI7AER t




W& s = (@D-1 PE $25L0F L= 150 m
Brigib B = BLE )
B = 0030 X 0030 X =z [/ = 0.001
AR = X X z / = 0.000
Im2%0

% 7 o & =
BT
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
BT 1
AsEELEIR t=10cmEl T 1.00 X 0.60 = m2 0.60
i T, BHO.28m3
- A B A 1.00 X 0.60 X( 0.63 — 0.05 )= m3 0.35
HIEE T BHO.28m3
B NG A A 1.00 X 0.60 X 0.23 — 0.001 = m3 0.14
HIEE 1. BHO.28m3
B NG FEAE A 1.00 X 0.60 X 0.15 = m3 0.09
TIESHE T (RC-530)
t=10cm 1.00 X 0.60 = m2 0.60
LB EAR T (RM-50)
t=12cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FEL A T ADT malt+  WHEt
FEAS 10 0.35 —( 0.09 = 0.90 )= m3 0.25
FEL A T ADT
FEAZL TR 1.00 X 0.60 X 0.05 = m3 0.03
AL
TA77 VR 0.03 X 2.35 = t 0.07




Wi s = @  PE g25LLF L= 9.0 m
Brigib B = BLE )
B = 0030 X 0030 X =z [/ = 0.001
AR = X X z / = 0.000
Im2%0

% B 7 o & =
BT
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
BT 1
AsEELEIR t=10cmEl T 1.00 X 0.60 = m2 0.60
i T, BHO.28m3
- A B A 1.00 X 0.60 X( 0.33 — 0.05 )= m3 0.17
HHE 1. BHO.28m3
KN SEA - 1.00 X 0.60 X 0.08 — 0.001 = m3 0.05
HHE 1. BHO.28m3
SN T m3 0.00
FE AR T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
LB EAR T (RM-50)
t=12cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
T3 T. 4tDT IR
FiAA 1 0.17 —( 0.00 = 0.90 )= m3 0.17
T3 T. 4tDT
FEAS TRI7AbEE 1.00 X 0.60 X 0.05 = m3 0.03
AL
TA77 VR 0.03 X 2.35 = t 0.07




WS =  (D-2 PE 25U F L= 21 m
Brigib B = BLE )
B = 0030 X 0030 X =z [/ = 0.001
AR = X X z / = 0.000
Im2%0

% 7 o & =
BT
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
BULEN A 1
AsEELEIR t=10cmEl T 1.00 X 0.60 = m2 0.60
i T, BHO.28m3
- A B A 1.00 X 0.60 X( 1.03 — 0.05 )= m3 0.59
HIEE T BHO.28m3
B NG A A 1.00 X 0.60 X 0.23 — 0.001 = m3 0.14
HIEE 1. BHO.28m3
B NG FEAE A 1.00 X 0.60 X 0.55 = m3 0.33
TIESHE T (RC-530)
t=10cm 1.00 X 0.60 = m2 0.60
LB EAR T (RM-50)
t=12cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FEL A T ADT malt+  WHEt
FEAS 10 0.59 —( 0.33 = 0.90 )= m3 0.22
FEL A T ADT
FEAZL TR 1.00 X 0.60 X 0.05 = m3 0.03
AL
TA77 VR 0.03 X 2.35 = t 0.07




4 . {FEREPE ¢ 50mmAi R BEH



PESOmMmMIREREMR T HEHEE

ek EH: %Y :0.30~1.20m NO.
EHRA
TiE £ & BRTZE H(7 £ -4
K&
H# FUIFLVZBE $50 m 44.7
B ER
YT 5 kg ® 100 X ¢ 50 H® 1
EAIe
=7 50 & 1
ZENVF—X
RYIFLVE AR T ¢ 50X 20 A 7
ZEWNVF—X
RYIFLVE AR T $50%x ¢ 25 & 2
Yiryh
RYIFLVE AR T ¢ 50 & 1
FEDRE DI
RYIFLVE AR T ¢ 50 & 2
90° I
FYIFLVE AT ¢ 50 & 2
REER PE ¢ 50 = 44.700
;’Tfﬁ [#5%T])
B ER
NKEETAHT 100 X ¢ 50 (5178 1
FYIFLVERMT ¢ 50 m 44.7
e F-R 90° I Yryb
FYIFLVERAMFT ¢ 50 A 26 2+ 9 4+ 2 + 1 J)x 2 = 26
e
MERCAABFT ¢ 50 [m] 2 2 = 2
vE
RYIFLEYIET ¢ 50 [m] 14 14 = 14
R YRFLYTH—L4 MIH
RET ¢ 50F m 17.1 17.100 = 17.100
(+T]
H=0.30m
RELETD PE ¢ 50 m 26.4
H=1.20m
REZELTO PE ¢ 50 m 0.3




No. 4 @ REEE @ REEE
PE & 75mmik 22 & 7 5% SEE L SEE L
26.4 sER L 0.3 sER L
& i iR % E HEEE
AsERZE R 2.00 52.80 2.00 0. 60 ( 53.40) 53)
UM T t=15cmA T m
AsERZE R 0. 60 15. 84 0. 60 0.18 ( 16.02) 16 )
SRR T |t=10cmA T m2,
BHO. 28m3 0.19 5.02 0.73 0.22 ( 5.24) 5)
HEARPRYE T Myt m3
BHO. 28m3 ( ) )
HIERT BAL m3
BHO. 28m3 0.14 3.70 0.68 0.20 ( 3.90) 4)
HIERT FEL m3
(RC-30) 0. 60 15. 84 0. 60 0.18 ( 16.02) 16 )
TrERET t=10cm m2
(RM-30) ( ) )
LB T t=12cm m2
BAEFH As13mm 0. 60 15. 84 0. 60 0.18 ( 16.02) 16 )
ERE{RE IR t=3cm m2
BiIanT 0.03 0.79 0.03 0.01 ( 0.78) 1)
(8 4tDT m3,
BRitunT 0.03 0.79 0.03 0.01 ( 0.80) 1)
(AS) 41DT m3,
ZAE 0.07 1.85 0.07 0.02 ( 1.87) 1.9)

A S




Wik s = 1+ 1.0 PE RHEE 50 L= 26.4 m

B =  Hl ()

E R = 0060 X 0060 X x

AN

= 0.005

AN
|

1m257

4 al S H ) K A i %
ez

AsFIHEIR t=15cmEL T 1.00 X 2 = m 2.00

R
AsEFRR t=10cmL{ T 1.00 X 0.60 = m2 0.60

i T, BHO.28m3
P 1 B A 1.00 X 0.60 X( 0.36 — 0.05 )= m3 0.19

PRI BHO.28m3
SN EA L m3 0.00

HERI” BHO.28m3
LA A 1.00 X 0.60 X 0.23 — 0.003 = m3 0.14

TIESHE T (RC-530)
t=10cm 1.00 X 0.60 = m2 0.60

_F/EEEAE T (RM=30)
t=12cm m2 0.00

PR 1H (A # R As13mm, A7)
t=3cm 1.00 X 0.60 = m2 0.60

LG T 4DT EIT WAL
RS L2 0.19 —( 0.14 <+ 0.90 )= m3 0.03

LA 4eDT
FEAB TR/ 1.00 X 0.60 X 0.056 = m3 0.03

TAE
TR 7P 0.03 X 2.35 = t 0.07




W5 = -T2 PE RS 450 L= 0.3 m
BiaE Bl = HE (G

R = 0060 X  0.060 X
2 FE LR = X X

AN

= 0.005

AN
|

1m257

4 al S H ) K A i %
ez

AsFIHEIR t=15cmEL T 1.00 X 2 = m 2.00

R
AsEFRR t=10cmL{ T 1.00 X 0.60 = m2 0.60

i T, BHO.28m3
P 1 B A 1.00 X 0.60 X( 1.26 — 0.06 )= m3 0.73

PRI BHO.28m3
SN EA L m3 0.00

HERI” BHO.28m3
LA A 1.00 X 0.60 X 1.13 — 0.003 = m3 0.68

TIESHE T (RC-530)
t=10cm 1.00 X 0.60 = m2 0.60

_F/EEEAE T (RM=30)
t=12cm m2 0.00

PR 1H (A # R As13mm, A7)
t=3cm 1.00 X 0.60 = m2 0.60

LG T 4DT EIT WAL
RS L2 0.73 —(0.68 +~ 0.90 )= m3 -0.03

LA 4eDT
FEAB TR/ 1.00 X 0.60 X 0.056 = m3 0.03

TAE
TR 7P 0.03 X 2.35 = t 0.07




5. REXH/KEPE ¢ 20, ¢ 25mmffiak &I



PE$20,025mmiR%ieKERRT HEBFHES

a5l £4%Y:0.30~0.60m NO, 5
HHIRA
IfE £ _# BRTE |y & #_Z
ZH [ Ex#EKE]
MIt 24TA Tt
(RE Ak B T PEG20 @A 1 e
MIt 2470 it
RER K EEH T PE ¢ 20 (el 1 1.2m
MIt 247D e
(BB T PEG20 @EF 2 5
MIt 24T Tt
(RE Ak B T PEG20 @EF 2 -
MIt 24TF Tt
(B BT PEG20 @A 1 e
MIt 2478 £t
RER MK EEH T PE ¢ 25 (el 2 28m
[£1]
H=0.30m
[ ) PE ¢ 250 F m 255 1.1+3.7+1.2+3.0+2.8+4.8+3.4+4.7+0.8 25.5
H=0.30m
EHLI@ PE25LT | m 27 09x3 21




No. 5 [©) REE @ REE
RER#EKEPES 20, $25mm7 5% SER L SER L
25.5 “ER L 2.7 “ERE L
& 7 i % B BHE
AsEZERR 2.00 51.00 2.00 5.40 ( 56.40) 56 )
SEYMT t=15cmA T m
AsEfZERR 0. 60 15.30 0. 60 1.62 ( 16.92) 17)
SRR T |t=10cmA T m2
BHO. 13m3 0.17 4.34 0.35 0.95 ( 5.29) 5)
AR YE T Myt m3
BHO. 13m3 ( ) )
HWHERT BAL m3
BHO. 13m3 0.12 3.06 0.30 0.81 ( 3.87) 4)
HWHERT FEL m3
(RG-30) 0. 60 15.30 0. 60 1.62 ( 16.92) 17)
TREET t=10cm m2
(RM-30) ( ) )
TERET t=12cm m2
BAZH As13mn 0. 60 15.30 0. 60 1.62 ( 16.92) 17)
PR {1818 t=3cm m2
EtusT 0.04 1.02 0.02 0.05 ( 1.07) 1)
(8 2tDT m3,
EtusT 0.03 0.77 0.03 0.08 ( 0.85) 1)
(AS) 2tDT m3
ZAE 0.07 1.79 0.07 0.19 ( 1.98) 2)

A S




WrGiES = 4T3 PE Kk ¢ 251 L= 00 m

B =  Hl ()

EHE = 0030 X 0030 X x = 0.001

/
2 FE LR = X X T /

1m257

4 7 H ) K A i %

ez

AsFIHEIR t=15cmEL T 1.00 X 2 2.00

Il
8

R
AsEFRR t=10cmL{ T 1.00 X 0.60 = m2 0.60

i T, BHO.28m3
P 1 B A 1.00 X 0.60 X( 0.33 — 0.05 )= m3 0.17

PRI BHO.28m3
SN EA L m3 0.00

HERI” BHO.28m3
LA A 1.00 X 0.60 X 0.20 — 0.001 = m3 0.12

TIESHE T (RC-530)
t=10cm 1.00 X 0.60 = m2 0.60

_F/EEEAE T (RM=30)
t=12cm m2 0.00

W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FEL A5 T 4tDT el WAL
FHiAB 14 0.17 —( 0.12 = 0.90 )= m3 0.04
e T 4DT
FERS TA77/ i 1.00 X 0.60 X 0.05 = m3 0.03
AL
TA77 VR 0.03 X 2.35 = ¢ 0.07




WrGiES = 1 T@ PE ik ¢ 251 F L= 00 m

B =  Hl ()

EHE = 0030 X 0030 X x = 0.001

/
2 FE LR = X X T /

1m257

4 7 H ) K A i %

ez

AsFIHEIR t=15cmEL T 1.00 X 2 2.00

Il
8

R
AsEFRR t=10cmL{ T 1.00 X 0.60 = m2 0.60

i T, BHO.28m3
P 1 B A 1.00 X 0.60 X( 0.63 — 0.05 )= m3 0.35

PRI BHO.28m3
SN EA L m3 0.00

HEET BHO.28m3
Z NS FEE A 1.00 X 0.60 X 0.50 — 0.001 = m3 0.30

TIESHE T (RC-530)
t=10cm 1.00 X 0.60 = m2 0.60

_F/EEEAE T (RM=30)
t=12cm m2 0.00

W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FEL A5 T 4tDT el WAL
FHAE L4 0.35 —( 0.30 = 0.90 )= m3 0.02
e T 4DT
FERS TA77/ i 1.00 X 0.60 X 0.05 = m3 0.03
AL
TA77 VR 0.03 X 2.35 = ¢ 0.07




6. {REEEPE ¢ b0mniilE EFE



[REXEPESSOMmMIBETL HEFHES

RS £4Y:0.30~1.20m NO. 6
B
IiE -] FERLTZE By % 8 B =
23 YL KER SR
## 799 %97’ ¢ 50 ] 1 1 = 1
HHE
FE HET])
FYIFLVERET ¢ 50 m 44.7 44.700 = 44.700
Fry7°
MERLAABFT ¢ 50 m] 1 1 = 1
e F-2 90° ILF Yk
DYIFLVERFRALT ¢ 50 m] 26 2+ 9 + 2+ 1 H)x 2 = 26
txy
MERLAAMFRALT ¢ 50 A 2 2 = 2
[£x1])
H=0.30m
REEELTO PE ¢ 50 m 26.4 26.4 = 264
H=0.60m
REEELTO PE ¢ 50 m 0.3 0.3 = 03




No. 6 @® R ERE @ R ERE
PE & 50mmiz 38 Bt % 26.4 =R L 0.3 =R L
& 7 i % B HEtHE
AsEZERR 2.00 52.80 2.00 0.60 (- 53.40)]( 53)
SEYMT t=15cmA T m
AsEfZERR 0.60 15.84 0. 60 0.18 (16.02 )]( 16 )
SRR T |t=10cmA T m2
BHO. 28m3 0.20 5.28 0.74 0.22 ( 5.50 )| ( 10)
AR YE T MEt m3,
BHO. 28m3 ( ) ( )
HWHERT BAL m3,
BHO. 28m3 0.07 1.85 0. 61 0.18 ( 2.03)|( 2)
HWHERT FEL m3,
(RG-30) 0. 60 15.84 0. 60 0.18 (16.02)]( 16 )
TREET t=10cm m2
(RM-30) 0. 60 15.84 0. 60 0.18 (16.02)]( 16 )
TERET t=12cm m2
BAZH As13mn 0. 60 15.84 0. 60 0.18 (16.02)]( 16 )
PR {1818 t=3cm m2
EtusT 0.12 3.17 0.06 0.02 ( 3.19)(( 3)
(8 4tDT m3,
EtusT 0.02 0.53 0.02 0.01 ( 0.54 ) ( 1)
(AS) 4tDT m3
ZAE 0.05 1.32 0.05 0.02 ( 1.34)|( 1.3)

A S




WS = 4 TA PE 450 L= 264 m
Brigib B = BLE )
R = 0060 X 0060 X 1 / = 0.003
B = X X z / —
Im2%0

% 7 o & =
ARG T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
DR AT T
AsEELEIR t=10cmEl T 1.00 X 0.60 = m2 0.60
i T, BHO.28m3
B E A B 1.00 X 0.60 X( 0.36 — 0.03 )— 0.003 =| m3 0.20
FAEE 1. BHO.28m3
LN JEA L m3 0.00
FAEZ 1. BHO.28m3
LN A 1.00 X 0.60 X 0.11 = m3 0.07
FE AR T (RC-30)
t=12cm 1.00 X 0.60 = m2 0.60
LB EAR T (RM-50)
t=10cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FEL A T ADT malt+  WHEt
HEAA - 0.20 —( 0.07 = 0.90 )= m3 0.12
FEL A T ADT
FERS TAT7 W 1.00 X 0.60 X 0.03 = m3 0.02
AL
T X7 7/l 0.02 X 2.35 = t 0.05




WG = 1 T2 PE 350 L= 0.3 m
Brigib B = BLE )
R = 0060 X 0060 X 1 / = 0.003
B = X X z / —
Im2%0

% 7 o & =
ARG T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
BULEN A 1
AsEELEIR t=10cmEl T 1.00 X 0.60 = m2 0.60
i T, BHO.28m3
B E A B 1.00 X 0.60 X( 1.26 — 0.03 )— 0.003 =| m3 0.74
FAEE 1. BHO.28m3
LN JEA L m3 0.00
FAEZ 1. BHO.28m3
LN A 1.00 X 0.60 X 1.01 = m3 0.61
FE AR T (RC-30)
t=12cm 1.00 X 0.60 = m2 0.60
LB EAR T (RM-50)
t=10cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FEL A T ADT malt+  WHEt
HEAA - 0.74 —( 0.61 = 0.90 )= m3 0.06
FEL A T ADT
FERS TAT7 W 1.00 X 0.60 X 0.03 = m3 0.02
AL
T X7 7/l 0.02 X 2.35 = t 0.05




. XK KAEPE ¢ 20, ¢ 26mmilE  fEF



&FE- 0% PE ¢ 20mm X 77, PE ¢ 25mm X 27

PE$20,625mmiREZAGKEREL HSHES

ekt £48Y:0.30~0.60m

NO. 7
FHI R
LiE & RS Z Sz x5 Bz
HEL
FH
I 24TA Ty
AR ERET PEG20 @R 1 i
MIH# 5476 1
R ERET PEG20 R 1 o
I 547D )
A ERET PEG20 @ 2 o
I 247E Ty
A ERET PEG20 @ 2 5
I 24FF T
A ERET PEG20 R 1 -
I 5478 Tty
A ERET PEG25 @ 2 2o
(1]
H=0.30m
REHELTO PE¢ 25LLF m 255 1.1+3.7+1.2+3.0+2.8+4.8+3.4+4.7+0.8 255
H=0.30m
REHELTID PE ¢ 25L1F m 27 09x3 2.1




No. 7 ©) R ERE @ R ERE
PES20, @ 13mmik2#5K B2 25.5 =R L 2.7 =R L
& 7 i % B HEtHE
AsEZERR 2.00 51.00 2.00 5.40 ( 56.40)]( 56 )
SEYMT t=15cmA T m
AsEfZERR 0.60 15.30 0. 60 1.62 ( 16.92)]( 17)
SRR T |t=10cmA T m2
BHO. 13m3 0.18 4.59 0.36 0.97 ( 5.56 )| ( 6)
AR YE T MEt m3,
BHO. 13m3 ( ) ( )
HWHERT BAL m3,
BHO. 13m3 0.05 1.28 0.23 0. 62 ( 1.90 )| ( 2)
HWHERT FEL m3,
(RG-30) 0. 60 15.30 0. 60 1.62 ( 16.92)]( 17)
TREET t=10cm m2
(RM-30) 0. 60 15.30 0. 60 1.62 ( 16.92)]( 17)
TERET t=12cm m2
BAZH As13mn 0. 60 15.30 0. 60 1.62 ( 16.92)]( 17)
PR {1818 t=3cm m2
EtusT 0.12 3.06 0.10 0.27 ( 3.33)|( 3)
(8 2tDT m3,
EtusT 0.02 0.51 0.02 0.05 ( 0.56 ) ( 1)
(AS) 2tDT m3
ZAE 0.05 1.28 0.05 0.14 ( 1.42)|( 1.4)

A S




W5 = 4T3 PE ikt ¢ 2500 F L= 255 m
Brigib B = BLE )
R = 0030 X 0030 X 1 / = 0.00]
B = X X z / —
Im2%0

% 7 o & =
ARG T
AsBFIERK t=15cmlL 1.00 X 2 = m 2.00
BULEN A 1
AsEELEIR t=10cmEl T 1.00 X 0.60 = m2 0.60
i T, BHO.28m3
0T A BEE - 1.00 X 0.60 X( 0.33 — 0.03 )— 0.001 =| m3 0.18
FAEE 1. BHO.28m3
LN JEA L m3 0.00
FAEZ 1. BHO.28m3
LN A 1.00 X 0.60 X 0.08 = m3 0.05
TIESHE T (RC-530)
t=12cm 1.00 X 0.60 = m2 0.60
_F/EEAE T (RM-30)
t=10cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FEL A T ADT malt+  WHEt
HEAA - 0.18 —( 0.05 = 0.90 )= m3 0.12
FEL A T ADT
FEA L TAT7 W EE 1.00 X 0.60 X 0.03 = m3 0.02
AL
T X7 7/l 0.02 X 2.35 = t 0.05




WrigisES = 1+ T@ PE gaE#ks 62500 F L= 27 m

B =  Hl ()

R = 0030 X 0030 X 1 / = 0.00]
B = X X z / —
Im2%0

% 7 o & =
ARG T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
BULEN A 1
AsEELEIR t=10cmEl T 1.00 X 0.60 = m2 0.60
i T, BHO.28m3
0T A BEE - 1.00 X 0.60 X( 0.63 — 0.03 )— 0.001 =| m3 0.36
FAEE 1. BHO.28m3
LN JEA L m3 0.00
FAEZ 1. BHO.28m3
LN A 1.00 X 0.60 X 0.38 = m3 0.23
TIESHE T (RC-530)
t=12cm 1.00 X 0.60 = m2 0.60
LB EAR T (RM-50)
t=10cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FEL A T ADT malt+  WHEt
JEAZL 1% 0.36 —( 0.23 = 0.90 )= m3 0.10
FEL A T ADT
FERS TAT7 W 1.00 X 0.60 X 0.03 = m3 0.02
AL

TR 7P 0.02 X 2.35 = t 0.05




8. BERRBUKEPREILE L HEsk



FIREOKERILLBAET BESES

Bl %38 - 0% BR/KECIP ¢ 75mm: L=54.800m DIP ¢ 100mm:L=0.700m

137 $100: 15

R EH: NO, 8
E R
T £ FERTZ By # 8 H =
FE [BELEHET]
BEE% cIP
BHERET ®75 m 54.8 54.800 = 54800
BEE% DIP
FHikEUINT ¢ 75 m] 9 54.800 -+ 6 = 9
BEE% DIP
BHERET ¢ 100 m 22 2.200 = 2200
4 HPPE
FYIFLUEYIE T ¢ 100 A 1
BEE% DIP

HEEE UM T ¢ 100 g 2




9. MIEEAEIHT FER



HWEAEEH KEHREE

t=5cm SEIREAE A= 120.50 AR As—5-10-10
Tl i Bl E HifiL 7 AT
AR o A (e R ff R ERE S A
T TR T TR T TR T TAEREY T TAEFLY

A A TR R t=5cm 120.50 nf 120.5 121
A 4 1A t=3cm &{f 35.64 12.05 16.02 14.10
(bl 2 T A5
RER 2 I X Y t=3cm 35.64 12.05 16.02 14.10 mt 77.81 78
i R i T As t=15cmBL F 92.00 m 92 92
B AL K IRY t=5cm 120.5— 77.81 mt 42.69 43
A (&) t=2cm 77.81X 10.02 m3 1.56 2
REREEIE MR EEL 120.50 of 120.50 121
sy L 77.81X 0.02 m3 1.56 2
B 405y Asik 77.81X0.03+ 142.69X0.05 m3 4.48 4
FEFEMLY T Asik 4.48 X2.35 t 10.53 10.5




ol

Tl
+
il
I

‘}{:': A /A E
fie L Ak As=5-10-10

p ) AsHIE e ZM%IElét:SC% - _
12.50
14.10 120. 50
36. 50
25. 10
3. 80
& 3 92. 00 120. 50




2&%&%7}(%*%% S=Non

247D 2472
i R B R
| imetm | impm
PERTILAK ¢dx 24
1Eokis ¢ d BOXE L) PE(ZEE) 1E7KHE ¢ d BOXE D)
H RLf5kie x ¢ d PERY v k(5D Y K5 ki x ¢ d PERY v k (FHD)
PERSLEIKAER Y v k ¢d BIESE F 2D PERSILKIEAY 7y k dd T EAC )
BB R Y R dd(ddx dd ) BB E Yy kdd(ddx ¢d )
g = I\ g 2 I\
o o= EEREKE WPOLP) gd S M= BRIAKE VPOLP) ¢
Jou T J @ T
o._ﬂ- 1 o._H- S | Iy
= S + +
g
AE PERTILARGdx2s =G ‘ ‘ \§ PERTIL AR ddxdy
PE(ZBE) PE(C )
¢d L: | G ¢80 d:0. 60 (-Fﬂ L) ¢ d |_:
BAELIO-1 | ek ELT@ tmﬁ i‘ BkE | BKE | BKkE
IO xXI@-2 | £T@®-1 | £T®
Bk ke Fukm Ty |7 EAHAKE it 5 B0 1EKkA2 BOXEE) ) +IEE M
o . (0} 7? x ¢ 50 (HPPEF) H=0. 6 F§ i ERER
BEE A—H— A 7 y_/\i?ﬁ.% - ZE (R4. 6)
ABEOE Y od | od IR 15 | OIS | a5y | g20 | 425 fiii%sﬁ')q LU IR @
(HPPEFR) X $20 | x $25 20
1 003581 675 700 620 | ¢13 2 1 1 5.5 2.7 0.7 1.0
2 003582 ¢ 75 700 ¢ 20 13 1 1 1 2.2 0.9 1.0
3 003583 ¢ 75 700 ¢ 20 13 2 1 1 5.5 2.1 0.7 1.0
4 003584 (040080£5)
5 006969 ®75 700 620 | ¢13 1 1 1 2.2 0.9 1.0
6 007105 675 700 20 | $13 1 1 1 2.2 0.9 1.0
7 009963 75 700 ®20 $13 1 1 1 2.2 0.9 1.0
8 014092 675 700 20 | $13 1 1 1 2.2 0.9 1.0
9 017360 ¢ 75 700 ¢ 25 ¢ 25 1 1 1 2.2 0.9 1.0
10 040080 675 700 025 | $25 2 1 1 5.0 2.2 0.7 1.0

AREHEKELT

@ mhiEAs
Al %18
BAEZHETRY (13)
As t=5cm 600 BAMRRA RM-30
BAULARSA RC-30
3 o
™)
mo
= o
= = f— il e o
Iﬁ)\:t (% o
o

IR S — b

\PE ¢ 20 (¢ 25)

+ T No. T#wy H H1 H2 H3 & =
-1 600 630 580 230 150 (PE)
-2 1000 1030 980 230 550 (PE)
@ thiEAs
w -
BAEZHET Y (13)
As t=5cm 600 BAMERA RM-30
BAEVIAREA RC-30
3 of
™)
()
= = ) “‘8
- H ‘%}*
BAL
o o
IR S — b PE ¢ 20 (¢ 25)
+ T No. T#wy H H1 H2 H3 & =
@ 300 330 280 80 - (PE)
SEH
(C OEEEBROEEE50% /0 LT 3)
HEES ! 3 | w R | Non
T EETES R B
TEEH | T5m - ¢ 100mEKERRETE
iE Al AEBKERER
THER ZRHEEATH
LERKELEES S EM=ZREHHR




ﬂi E& EF ﬁ $=1:250

—
o

o

e
— gﬁ;@bk"ém\‘b
= D

i}

E’ififﬁ[j;/ 700m
17

%% PE@50

5

&

49_:9:,«%% ;
1 B $=1:100

1-1

4300 _
00 3320 ) fRExBikeE | ——
2o 270 BRERELKE | — —
K
A —
T 5EK
-
Woow (COREEREOHEE0%MHA L TLAB)
HEES 2 ® R ®

3

BREREL/KE CIP@ 75

N TEERTES R BR
fRE&ELKE PE® 50 IEEH | e ok B R E TS
TKETEVU ¢ 200 =R REFER

G ¢80 d=0.60 ({EE)

IHEm ERMERATE

LEERKELEESERA=REHR




{&EXEE7K%E$%H S=noscale

=
REEELT
REEFHKELT
A1iEAs
Nt = =
RE%E PEGSOREMET L=44, 700m (L=43, 800m) o a——
RELEITD REZELEITE g "
B RURFLUI2+—LRETI) L=26. 4m L=0. 3m
17,100 26, 400 1,200
As t=bcm W BEFHETY (13)
(0, 300) £Y)ARE RC-30
) e [ ) ) = ol
2 3 > R 3 & ==z Al | o
[= — o = ™ o FEL =
© ~ < (=] ~ ™
o o — o — o —
o o o o o o
I % % % % % % - =
e
(EFE/‘/PEquO) | H FILfH5 7Kg ¢ 100 x ¢ 50
] i (HRER)
300 2,200 6,200 600 6, 700 1,100 800 2,300 3,500 8, 700 4,700 6, 400 £ INe. HUZE| D W |ty H H1 H2 &
oI ]i[ ]ito—ﬂi[ j# Ho ]i[ ]i[ ]F[c ,ﬁ ‘ (& E =) $50 60 600 | 300 | 360 | 310 | 230 (PE)
T § 7 0 RELTO $50 60 | 600 | 1200 | 1260 | 1210 | 1130 (PE)
\ ®HELT® |p258F| 30 | 600 | 300 | 330 | 280 | 200 (PE)
[2) M - o ®ELT@ |p256F| 30 | 600 | 600 | 630 | 580 | 500 (PE)
) o = FiiKa | =
_— = 2 2 o S
PE 28 LVF—Z $50% ¢20 83 2 2 w R
. . = 8 8 £ .
PE ZEWVWF—X¢50x ¢20 8= 2 Z i i I
PE BBV F—X$50x ¢20 ®¥ |§:III:
£12LNF— X . .
PE BEWLWF—X$50x 20 As t=3cm W ﬁiwiﬂgm/us
P S B
PE BEWF—X¢p50x ¢25 PE ZBWLWF—X¢50x ¢20 |
PE BB LNF—X$50x ¢25 -
PE V7 k $50 PE ZiELVF—X¢50x ¢20 =
=
PE ZEWF—X50x ¢20 =
= EHI
) Zn = I gt
X a ﬁuxﬁé\ﬂk =] WE. S=Non ®
N=1
24T®W 247 ®) €
v “JFE;%% CETETIE ) (CETT IR 0]
PER{EF-X $50x 620 PET LA $20x2
- BESRIEKAS 613 PET LK ¢20x2
= PER VY7 y k&2 X13(A %) PEREF-X $50x ¢20 Mpg;{f;y Fgmx]s(*? ) TThe wUE| D Wo|tmy | K | W | H | @®
H=0. 30 4 § REBELTD | ¢50 60 | 600 | 300 | 360 | 330 | 110 (PE)
: j?1 g Z ERBELTTO | ¢50 60 | 600 | 1200 | 1260 | 1230 | 1010 (PE)
"ﬁ i ot 820 ——— bt 620 1 . REMELTIO [¢258F| 30 | 600 | 300 | 330 | 300 | 80 (PE)
PE 90° T JL7K ¢ 50 (VB) 40 3 31" L f; * REWELTI@ | $25LTF| 30 600 600 | 630 | 600 | 380 (PE)
~ <
S S Hw (REREPE 50,/ REEPE 450, T
24 FB) 24 F(E)
- CET A ) (B3 < 1245 o
P =120 N K TS| pe | TR
: BF-2 $50x ¢20 o e AR
BESR 1 K48 ¢ 25 BE| A—45— 847 i . . ;
) PERFEF-R 650x $25 [PERY 7y b 625 (£ 53) R8T 620 od |*4- g0 | ™ |EEIT|BELI) (R4O)
PE 90° T)L7K ¢ 50(VB) PERY4Z Y k020G HD) 24 mf:: ©) @
1 003581 320 | 313 | CED 1| 11
2 003582 320 | 313 | <A 37 | 3.7
¢ omg 3 003583 $20 | 913 | O 12 | 1.2
ITETEHb ILQ-'! PO BfieAE PEG20 M= Dk E 4 003584 (04008058
- 5 006969 $20 | 913 | (DD 45 | 30 [ 09
SBEPE ¢ 50 SBEPE 50 BB Y oy 620X 13 6 007105 $20 | $13 | (DD 43 | 28 | 0.9
kL >PE@50 7 009963 320 [ p13 | (BED 48 | 48
8 014092 620 | 913 | C(FD 4.9 3.4 0.9
(E}E;&Iﬁ?égﬁ)) (Egn:f, Z,g ) 9 017360 325 | ¢25 | (B 47 | 41
- P‘E“ 6% 10 040080 625 | 925 | (BD 08 | 0.8
ey %
SN PER{EF1 $560x ¢20 \ M%_’_ o2 52 (COBEIFER OEE E50%86M LTI 5)
—L Z
PEREFL $50x $20 R s T 320 = HEES s ® R | " &
PERY Y v F¢20(A%R) 24 -
THEEH B RT5E R BRI
PE AtV b ¢50 @ 75mm - ¢ 100mmER K EHHETH
. N . 7 Al REREKEHMR - RFBKERER
R8T $50 PEG2 . Bk s PEG20 o L] e FEEKE - -
PE AR TFVTy b $50 } \ \ THER ZRWERATAE
{REEPE )50 B EPES50

Yy bop20x 13

LERKELEESTEXEZREBH




